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1- For instance, under the main entry amicable, two nouns and an adverb are also listed. ‘for instance’
means .......... .
1) generally 2) for example 3) extensively 4) put emphasis
@ (Jle plgizy) for instance .2,5 Lo s> 505 28 Sy 9 punl 9> «amicable» Lol (53959 525 > Jbe lgizs -)
ol e glimo
035 356 (€ 03,58 g0y (W Jbe she (¥ logac ()
(aitis «Jbio lgisyn slize @y 93 ,o for exmple g for instance) & VY aiy ;5 (abye Ghul Cylw gl
2- It is important to acquaint yourself .......... your library as very first stage in your academic career.
1) of 2) on 3) by 4) with
3- The books in the library are .......... According to subjects.
1) classify 2) classifies 3) classified 4) classification
4- I've tried those tablets and they haven't done me any .........cceceuec. ©
1) benefit 2) good 3) better 4) best
5- She had watched birds fly by throwing .................... into the air.
1) yourself 2) herself 3) ourselves 4) themselves
6- 1 like to visit other countries but | find the ..................... of travel is too high.
1) money 2) cost 3) expenses 4) currency
7- They did only had my computer for three weeks when | had to have the hard drive................
1) processed 2) restored 3) retakes 4) revived
8- Mathematics, physics, chemistry and biology are all .............. , while painting is an art.
1) scientist 2) sciences 3) scientific 4) scientifically

9- They should select and arrange people for assigning duties and positions in society. ‘Select’ means

1) evade 2) choose 3) separate 4) eliminate
10- As..cecvunrnnnee of our employees can afford cars of.............. Own they all have to rely on public
transport.
1) few/them 2) most/our 3) none/their 4) some /his
YA
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11- In the past few months, our company director..............more Mettle than most industrialists................in
an entire career.
1) had shown /have done 2) has shown /do
3) showed/would do 4) was showing/may have done

12- | don't imagine he wrote the speech...... but......did so Certainly made a good job of it.

1) of his /somebody 2) themselves/whichever

3) for them /whomsoever 4) himself/whoever

13- Had they apologized for deliberately overcharging me I.........a complaint with the Consumers Rights
Office.

1) will not have filed 2) would definitely file

3) may not have filed 4) would not have filed

14- Do you really believe that the party program............... it now stands, is democrats......... to influence

the vote in our favor.

1) since/also 2) as/ enough 3) such as /too 4) where / as well

15- I've decided that ........... to my boss about the situation.

1) speak 2) I'm going to speak 3) I'll speak  4) I'm having

16- Why were there no buses yesterday? Maybe it was the snow or they....... been on strike.
1) must have 2) could not have 3) might have 4) can't have

Direction: Read the following passage carefully and answer the questions that follow:

Jesse Owns was one of the world most famous track stars. The newspapers of his day called him "the
world's fastest human." This was because he could run faster and jump further than any other man of the
time. He was born in 1913. The son of a poor black family with six other brothers and sisters, the first
years of his life were very difficult. He was close to death many times during his youth, due to illness.
However, the care of his mother and father helped him to pull through each time. He started running and
training in school and while in college at Ohio State University he entered a national competition. During
this competition, he set four world records. In 1936, the Olympic Games took place in Germany. This was

the Germany of Hitler who did not believe that any race of people was better than the Germans. Jesse won

\q
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the gold medal for each of the events he entered during the games and became one of the most popular
athletes in the world.
17- Hitler ...........
1) did not believe that his athletes could win the races
2) was in power when the 1936 Olympic Games were held
3) resented the people of the German race
4) had Jesse train at Ohio State University
18- Jesse Owens'’s ...........
1) was brought up in poverty
2) first competed in the Olympic Games
3) started to run Because his mother and father pulled him through
4) ran faster than anyone could jump
19- According to the passage......... .
1) Jesse caused Hitler to worry about his athletes
2) Jesse was one of the world's most popular athletes
3) Jesse is the only man to have set four world records

4) Jesse was the only black athlete to have obtained an Olympic medal

20- All students are expected to .........cceeeuuriuneeen. their term project by the end of this month.

1) survey 2) submit 3) sustain 4) suspect

21-We must try to ....ccccevvrenninnnnnnneee. the country’s wealth so that we help those who need it most.
1) distribute 2) attribute 3) compensate 4) eliminate

22- When Mrs. Harris was promoted, she missed the day - to — day ................. with customers.

1) involvement 2) announcement  3) improvement 4) retirement

Part B: Reading Comprehension

Direction: Read the following passage and select choice (1), (2), (3) or (4) that best answers each question.

Then mark your answer on your answer sheet.

If you think of the job’s robots could never do, you would probably put doctors and teachers at the top of

the list. It's easy to imagine robot cleaners and factory workers, but some jobs need human connection
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and creativity. But are we underestimating what robots can do? In some cases, they already perform better
than doctors at diagnosing illness. Also, some patients might feel more comfortable sharing personal
information with a machine than a person. Could there be a place for robots in education after all?
British education expert Anthony Seldon so. And he even has a dare for the robot takeover the classroom:
2027. He predicts robots will read students' faces, movements and maybe even brain signals. Then they
will adapt the information to each student. It's not a popular opinion and its unlikely robots will ever have
empathy and the ability to really connect with humans like another human can.
One thing is certain. though. A robot teacher is better than no teacher at all. In some parts of the world,
there aren’t enough teachers and 9- 16 percent of children under the age of 14 don't go to school. That
problem could be partly solved by robots because they can teach anywhere and won't get stressed or tired
or move somewhere for an easier, Higher- paid job.
Those negative aspects of teaching are something everyone agrees on. Teachers all over the world are
leaving because it is difficult job and they feel overworked. Perhaps the question is not “Will robots replace
teachers” but “How can robots help teachers?” office workers can use software to do things like organize
and answer emails, arrange meeting and update calendars. Teachers waste a lot of time doing non-
teaching work. Including more than 11 hours a week marking homework.
23- Which of the following statements can be in inferred from the first paragraph?
1) We need to underestimate what robots can do for us.
2) Robots cannot diagnose diseases better than doctor.
3) The majority of people prefer to share personal information with a human being rather than a machine.
4) Robots do cleaning jobs easily because they do not require human connection and creativity.
24- According to the passage, which of the following statements may come true?
1) Anthony Seldon will become a robot expert soon
2) Teachers will be assistants to robots in 2027.
3) it is highly probable that robots will really connect with humans like another human can.

4) There will be no need for teachers throughout the world by 2027.

| Vocabulary |

Y\
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Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet

25- Harry's son is eighteen, he is naturally ...........c.cccceuueeeeee. to drive a car.

1) too old 2) such old

3) so old 4) old enough

26- The teacher told his students that the books ................. from the library must be returned soon .
1) were borrowed 2) borrowing

3) borrowed 4) which borrowed

27- We ....cccueee. for the bus for over an hour under that heavy rain before it arrived.

1) shouldn't have wait 2) mustn't wait

3) shouldn’t wait 4) mustn't have waited

28- If my friend .......ccccuvvuneeees a million dollars, he would certainly start his own business
1) would win 2) wins

3) won 4) has won

29- The school gave them a generous ........c.cccceeuiiecinees of money with which to purchase
1) reduction 2) promotion

3) allocation 4) Combination

PART B: Reading Comprehension

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet

Passage 1:

Today almost all cars require fuel and many haters would not work without oil. In short more than 85
percent of the global energy consumption is based on fossil fuel sources:i:e. oil «gas and coal. But to get
to these valuable resources of our plane, it is necessary to drill deeper and deeper- no easy enterprise.
Deep drilling technology (called “downhole drilling” in the field of oil and gas exploration) makes it possible
to recover oil and gas from depth of more than 2500 m. By combining downhole drilling with directional
drilling (dynamic position of a deep drill), previously unreachable oil reserves can be opened up, with

drilling depth if currently approximately 5000 m and drill lengths of up to 11000 m.
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Oil is a limited resource, but is an integral part of our modern way of living. Therefore, in many regions of
the world, the black gold is recovered from deep inside the earth. In the USA, Russia, England, China and
the Middle East, many oil and gas recovery plants, both onshore and offshore, produce several thousand
barrels of petroleum or natural gas every day. Until February 2008, the longest drill hole for oil recovery
was 11680 m long. It was drilled in 2007 in the course of opening up the Chayvo oil field offshore from
the north- eastern coast of Sakhalin (Russi1). This oil field is a approximately 2500 m deep, but it is several
kilometers from the coast. These oil reserves are opened up mainly by means of directional from onshore.
30- Which drilling technologies have been mentioned in the passage?
1) Downhole drilling and rotary drilling
2) Circulation drilling and directional drilling
3) Downhole drilling and directional drilling
4) Rotary drilling and circulation drilling
31- The word "integral” in paragraph 2 is similar in meaning to:
1) explicit 2) identical 3) essential 4) initial
32- Which of the following countries has NOT been mentioned in the passage?
1) Venezuela 2) Russia 3) USA 4) England
33- According to the passage, the longest drill hole for oil recovery until February 2008 was ......
1) 11000 m 2) 2500 m 3) 5000 m 4) 11680 m
34- The word "it" in paragraph 2 refers to ...
1) the Chayvo oil field 2) the coast
3) oil recovery 4) the course

35- English is spoken in most of the countries of the world. It is in fact considered an ........ccccceceeuueaene

language.

1) industrial 2) independent 3) technological 4) international
36- Our class is ......c.ceuueenne.... tWelve boys and eight girls.

1) provided with 2) composed of 3) concerned with ~ 4) full of

37- | cannot ever forget the kind ........................... on his face.

1) attraction 2) expression 3) recognition 4) impression

YY
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Cloze Test
The atmosphere keeps part of the sun’s light from reaching the earth. Plants and animals could not ... (38)
... on the earth without some light and ... (39) ... from the sun, but if all of the sun’s light ... (40) ... the earth,
they would kill living things. ... (41) ..., the earth’s covering of air prevents sudden great changes in ... (42)

... such changes would be dangerous for living things.

38-

1) breathe 2) keep 3) live 4) work

39-

1) could 2) storm 3) rain 4) heat

40- One important Indicator of quality of life is the proportion of ...... one has to spend in order to buy
food.

1) authority 2) precision 3) priority 4) income

41- Websites which allow user to download new books have been accused of ............... copyright law.

1) undergoing 2) violating 3) undertaking 4) discriminating

42- This method of construction is very convenient because it enables the builder to ............. Constructive

units of very small dimensions, such as bricks.

1) diminish 2) predict 3) utilize 4) enforce

\
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